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L1 —%—%R{6@ 1| xx b x x (=b)

x X 21 x X (—3)

1
L) xx4 = (2) x X (=5) = 4.(1) xx1 = Q) xx (-1) =
2
2.(1) xx7 = (2) x X (-8) = 5.(1) xx?= (2) x X (—?)z

3.(1) xx10 = (2) x x (—12) = 6.(1)x><%= (2)x><(—%)=




—Jo— X6 2 ax

3x ~ —2x ~ —Xx

D
se@ns (2)

R S CRES S SR S S ST 1)
L (1) 4x=4[]«x 4. (1) 9x = [ x

) —4x=(-4) x (2) —8x = ] x
2. (1) 3x=3[]x 5. (1) x= ] x

(2) =5x=(-5) ] x 2 —x=__ [x

3. () 7x=7[1x 6. (1)%x:_Dx

2) —11lx=(-11) Jx

2 —(x=___ [x

N[N




— 75— XR{ERE 3 ax + bx

3x + 5x
3
1. 4x +9x = 4. 11x + 13x =
2. 5Sx +x = 5. x+17x =

3. 6x+ 8x = 6. 9x +x =




L — 55— 4 ax + (—bx)
3x + (—5x)
4
1. 4x + (=7x) = 4. 7x + (—6x) =
2. x+ (—6x) = 5. 9x + (—2x) =
3. 8x+ (—9x) = 6. 23x + (—x) =




oL —5T—R{Ef 5 | (—ax) + bx
(—3x) + 5x
5
1. (—7x) +4x = 4. (=7x) 4+ 13x =
2. (—9%)+x = 5. (—9x) + 12x =

3. (-8x)+x=

6. (—x)+ 10x =




i —T—RIEE 6 | (—ax) + (—bx)
(—3x) + (—5x)
6

1. (=7x) + (—4x) =

2. (F9%)+ (—x) =

3. (—8x) + (—5x) =

4. (=7x) + (—13x) =

5. (—x) + (—12x) =

6. (—8x)+ (—x) =




—T—RI{EE7 | ax— bx (a > b)

5x — 3x
7
1. 7x — 4x = 4. 25x — 13x =
2. 12x —x = 5. 16x —12x =

3. 13x—x = 6. 8x —x =




ax — bx (a <b)

R 8
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3x — 5x

4. 5x —13x

5. 6x —11x

6. x —12x

1. 7x — 9x

2. x — 8x

3. 3x — 15x



—Jt—RIERE 9 ax — (—bx)

5x — (—3x)
9
1. 7x — (—9x) = 4. 5x — (—13x) =
2. x —(—8x) = 5. 6x—(—11x) =

3. 3x — (—5x) = 6. x — (—x) =




—t—R(E/ 10

(—ax) — (—bx)

(—5x) — (—3x)

1. (=7x) — (=9x) =

2. (—x) —(—8x) =

3. (—3x)—(-5x) =

10

4. (=5x) — (—13x) =

5. (—6x) — (—11%) =

6. (—x) —(—12x) =




——REE 11| axxb

3x X 2
11
1. 7x X9 = 4. Sxx 13 =
3
2. 8x X 4= 5. Bx X7y =
6. 12% X —
3. 3x X5 = P XX T




——R{EE 12 | ax x (—b)
3x X (—2)
12
1. 7x x (-8) = 4. 5x X (=15) =
3
2. 8x X (—6) = 5. 8xx (=7 )=

3. 3x X (—4) =

1
6. 12x x (= )=




—c—R1EfE 13 (—ax)xX b

(—3x) X 2
13
I (=6x) x9 = 4. (—6x) x 12 =
3 _
2. (-7x) x4 = 5. (—8x) x 1=
1 _
3. (—4x) x5 = 6. (—2x) x c -




&L —t—R{EE 14 | (—ax) x (—b)
(—3x) x (=2)
14

1. (=3%) X (—4) =

2. (—=6%) X (=5) =

3. (—4x) x (—8) =

4. (—4x) x (-12) =

5. (—12x%) x (- % )=

6. (—12x) x (— % )=
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Li—5T—%1{6f 16 | x = (—b)

x +(—4)
16
1. x+(=7) = 4. x + (—12) =
1
2. x+(—8) = Sx=(="g )=
2
3. x +(=5) = 6. x=(=73 )=




—J—R{EE 17| ax b

8x - 4
17
1. 6x -3 = 4. 36x -3 =
3
2. 14x =2 = 5. 3% =y =
]
6. 2x ~— =
3. 15x ~ 5 = 6




L —T—R{EfE 18 | ax +~ (—b)
8x + (—4)
18
1. 9x ~ (—9) = 4. 60x + (—12) =
2. 8x +(—2) = 5. 4x+(—%)=
3. 20x + (—4) = 6 2x s (— ==
c 2x = (— 3 ) =




—T—R{EM 19 (-ax) = b

(—8x) ~ 4
19
L (=3x)+3= 4. (—42x) +3 =
3x) = o —
2. (—16x) +2 = 5. (=3x)+74 =
6. (—8x) +% =

3. (—25x)+5=




L —T—RIL/ 20 (—ax) + (-b)

(—8x) +~ (—4)
20
1. (—12x) = (=3) = 4. (—32x) + (—8) =
3x) - (— — ) =
2. (—24x) + (—4) = 5 (730 (=7¢g )=
6. (—4x) + (- 2
3. (=35x) + (=5) = ) E (=3 =




——R{EEF 21 ax=b
Ox + 4
21
1. 6x+5= 4, 7x +3 =
2. 4x =7 = 4
5. 3x+3 =
3. 8x+9= A
6. ZX—S =




—Jt—R{ERE 22 ax +~ (—b)

Ox + (—4)
22
Lo6x+(=7)= 4. 7x + (—11) =
2
2. 4x + (=3) = 5. 3x+(——5)=
P A
3. 8x+ (—5) = 6. 2x+ (— 4 )=




—T—XILRE 23 (—ax) < b

(—9x) ~ 4
23
1. (—ZX) —5= 4. (_7X) L3 =
2
2. (-3x)+7= 5. (=30)+3 =
4
3. (-7x)+9 = 6. (—2x) +35 =




= —TT—RIEE 24 (—ax) + (—b)

(—9x) = (—4)
24
1. (=6x) + (=7) = 4 (=7x) + (~11) =
L 2
2. (=5x)+(-3) = 5. (—3x) + (— 5 ) =

L3
3. (—9x) + (=5) = 6. (=2x)+ (= 74 )=




——R{EE 25| ax X b+ c

2x X 3+7
25
1. 7x X3+ 4 = 4. 5x X2+ 8 =
5. 8 ><i +6 =
2. 8x X245 = P OX Ny TOE
1
6. 12x x— +1 =
3. 3x X6+7= 6




1. 7x X (=3)+4 =

2. 8x X (—=2)+5=

3. 3x X (—6)+ 7 =

—t—R{E@E 26 | ax X (—b) + ¢
2x X (=3)+7
26

4. 5x X (—2)+8=

3
5. 8x x (_T )+6 =

1
6. 12x x (—? )+8 =




—Jc—RIEE 27 | (—ax) X b+

(—2x) X 3+7

27

1. (—4x)x3+42= 4. (=3x)x 12+ 8 =

3
2. (-7x)X2+5= 5. (—4x) x A +6 =

1
6. (—12x) x— +1 =
3. (-5x)X6+7= (—12x) x7¢




—c—X{EfE 28 | (—ax) x (—b) + ¢

(=2x) X (=3) + 7

1. (=4x) x (-1 +2 =

2. (=7%) X (=3) + 25 =

3. (-5x)X(=2)+7=

28

4. (=3x) X (=2)+8=

5. (—4x) x (—%)+6=

6. (—12x)><(—%)+8=




—Jc—RIE"E 29 | — (x+ b)
—(x+2)
29
1. —(x+9) = 4. —(x+13) =
7
2. —(x+5) = 5. —(x+ 77)=
6
3. —(x+7) = 6. —(x+7 )=




—Z—R{E/ 30 | — (x—b)

—(x—2)
30
1. —(x—3) = 4. —(x—11) =
1
2 —(x—4) = 5 —(x— @)=
6
3. —(x—8) = 6. —(x—75 )=




—T—RILA 31 | — (—x + b)
—(—x+2)
31

L =(=x+9)= 4. —(—x +13) =
5

2. —(—x+5)= 5. —(—x+ 3)=
1

3. -(—x+3) = 6. —(—x + g )




—5—R{R 32| — (—x— b)
—(—x—2)
32
1. - (—x—3) = 4 —(—x—11) =
3

2. —(—x — 4) — 5. —(—x — T ):
6 L

3. - (—x—-8) = . —(—x - 5 )=




—75—R{ER 33 | a(bx + ¢)
2(3x +4)
33

1. 2(3x +9) = 4. 4(3x+1) =
A(2% 4+ > )=
2. 3(4x +5) = S A
6. 6(3x +— )=
3. 5(2x+3) = . (x+6)_




——R{LA 34 | a(bx — )
2(3x — 4)
34
1. 23x—9) = 4. 4(3x—2) =
3
2. 3(4x—5) = 5. 8(2)(,'— 4 ):
6. 12(3 N
3. 52x—1) = L 12(3x - )=




—JI5—R{E™ 35 | a(—bx + ¢)

2(—3x+4)
35
1. 2(-3x+9) = 4. 4(=3x +1) =
8(—2x + = )=
2. 3(—4x +5) = 5. 8(—2x + = )=

3. 5(_2x + 3) =

1
6. 6(=3x+¢ )=




—E— {6 36 | a(—bx — ¢)
2(—3x —4)
36
1. 2(-3x—5) = 4. 4(-3x—4) =
3
2. 3(—4x — 1) = 5. 4(—2_){ — 2 ):

3. 5(_2x — 4) =

1
6. 12(=3x -5 )




——R{EE 37 | —a(bx+ )
—2(3x +4)
37
1. -2(3x+1) = 4. —4(3x+7) =
7(2% 4 = )=
2. —3(4x +3) = 5. —7(2x+ 77 )=

3. 5(4x+3)=

1
6. —6(3x + 6 )=




——RIERE 38 | —a(bx — ¢)
—2(3x—4)
38
1. —2(3x—9) = 4. —43x—7) =
3
2. —3(4x —5) = 5. —8(2x — 5 )

3. =52x—4) =

1
6. —12(3x -5 )




——RIERE 39 | —a(-bx+c)
—2(—3x +4)
39
1. =2(—3x+1) = 4, —4(—x+7) =
ENNG
2. —3(—4x+3) = 5. =7(=2x+ 5 )=

3. =5(—2x+3) =

3
6. —2(=5x+5 )=




—Jt—X{E@E 40 | — a(—bx — )
—2(—3x—4)
40
1. —2(-3x—5) = 4. —4(—x—8) =
8(—2x — ~-
2. —3(—4x — 6) = 5. =8(=2x="4)
6. —6(—3x -~
3. —5(=3x—1) = - 76(=3x=57)




—T—RAAKEL | x+b (x21EEER)

=x =2 H] x+ 1=

41
.—*Ex=3’E!'Jx+9= 4,-’;'){:2’&]']3(-}-4:
.EZXx=4> P x+5= 5. Fx=4> P x+6=

.EX=50 x+7= 6. Fx=5>pP x+8=




—TT—RAAKE2 | x—b (xFLEEE)

+Px=2,E\[Jx_1:

42
.Ex=13>p0 x—9=
. Ex=14>0] x—5= 5. x=4>p] x—6=
. E2x=15 Rl x—7 = 6. x =50 x—8=
FX=20 x—4=




—T5—RKAKE3 | ax+b (xS1EEE)

=x =2 /] 3x+ 1=

.Ex=30 2x+9 =

.FEwx=4> 0] 2x+5=

.EZx=50] 3x+7=

43

4. Fx =20 3x+4 =

5. Fx=4> P 5x+6=

6. Fx=5> P 5x+8=




—T5—RKAKES | ax— b (xS1EEE)

= x =2 HJ] 3x — 1=

44
.EXx =3P 2x—4 = 4. Fx =20 3x—7 =
.Fwx=4> 0] 2x—-5= 5. x=4> P 4x—-20 =

.EZx=50] 3x—-7= 6. Fx=5>p 3x—18 =




—TI—RRAAXKIES

=x =2 H —3x + 1=

45
1. #x =3P —x+9 = 4. Fx =20 -3x+4 =
2. Fx=4> P -2x+8= 5. #x=4>P] =5x+6=

3. #x =5 p] —2x+17 = 6. 2x=5>P] =5x+8=




—TT—RRKAKEG6 | —ax—b (xS1EEEH)

= x =2 H] —3x—1=

.EXx=3p -2x—4=

.Ewx=4> 0] =2x—-5=

.EXx=2p] 3x—-7=

¥
=
Il

46

45 p —x—20=

. Fx=5>0] =3x—18 =




—TT—RHAKET7 | x+b xESEEE)

47
1. Fx=-3 0] x+9 = 4. Fx=—-20] x+1=
2. Fx=—40] x+5= 5. Fx=—4> 0] x+3=

3. Fx=-5 0] x+7= 6. Fx=—-5>0] x+5=




—t—RRAAKIES

x—b (xREREEZ)

-

1. #x=-3 Pl x—9 =

2. Fx=—40] x—5=

3. Fx=—-5 "} x—7=

4. Fx=—-2> P x—4=

5. Fx=—4> P x—6=

6. Fx=—-5>0] x—8=




—TT—REAKEI | ax+b (xEEEE)

=x=—-2"H 3x+ 1=

49
1. Fx=-3 0] 2x+9 = 4, Fx=—-2° 0] 5x+1=
2. Fx=—4> 0] 3x+15= 5. Fx=—4>0] 3x+2=

3. Fx=-5> 0] 4x + 27 = 6. Fx=-5 0] 2x+10 =




—TT—RRKAKEL | ax—b (xESEEEH)

50
1. Fx=-3> 0] 2x —9 = 4. Fx=—-2° 0] 5x —4 =
2. Fx=—4>p] 3x—-5= 5. Fx=—4> 0] 4x—6 =

3. Fx=-5> P 4x -7 = 6. Fx=-50] 7x —8=




—m—RRAAXRE1L]

) |
1. #x=-3 ] —x+9= 4. Fx=—-2P —x+1=
2. Fx=—4>0] —x+5= 5. Fx=—4> 0] —x+3=

3. Fx=-50] —x+7= 6. Fx=-5>0] —x+5=




——RARAAKIE 12

1. Fx=-3 0] —x—1= 4.
2. Fx=—4> 0] —x—-2= 5.
3. Fx=-5>f] —x -3 = 6.

AL

'Ex=—2’ EI'J —x — 4 =

x=—4>p —x—6=

B

Fx=-5 >R —x—8=




—TT—REAKELI | —ax+b (xEREEE)

= x=-=2>H|] -3x+ 1=

53
1. #Fx=-3> 0] —2x+9 = 4. Fx=—-2>p] -5x+1=
2. Fx=—4> 0] -3x+5= 5, Fx=—4> 0] =3x+2=

3. Fx=—-5 0] —4x+7 = 6. 2x=-5p] —2x+10 =




—TT—REKAKELIL | —ax—b (xEREEE)

= x=-=2>H] -3x—1=

54
1. Fx=-3> 0] —2x—1= 4. Fx=—-2>p] 2x—4=
2. Ex=—4>p] -3x—-5= 5. x=—4 | —4x—26 =

3. Fx=—-50] —4x -7 = 6. Fx=-5°0] -3x—18 =




—t—RARAAKIE 15

ax—b ( x2IERE)

W
R

3 _
5 B —2x—1=
2 | _
3

4 » B —4x —7 =

[l
PNES

N

@ |~

» ] —=5x —4 =
» B —7x—6 =
» ] —8x —8 =




——RARAAKIE 16

=x=——>H|] 3x+1
56
1. £x = 7%‘"1 2x +4 = L FX= » B Sx+4 =
- 2 . 1
2. FX=—3 Bl 3x 4+ 5= . EBX = 7’51'] 7x+ 6 =
- 3 . 7
3. ?x=—7’lﬂ'l 4x +7 = .%’x=—§’ﬂ‘l 8x + 8 =




—m—XEER]L (x+a=>»

x+3=5>x=?

57

1. x+3=8>x= 4. x+9=8>x=

5.x+10=7>x=
2.x+5=9>x=

3. x+7=15>x = 6. x+8=5>x=




[-- —_ - o —f
& —r—xsE=2

at+x=D>b

3+x=5>x=?

1. 3+4x=10> x =

2.54x=7>x=

3.9 +x =11 x =

58

4. 8+x =6 x=

5.11+4x=7>x =

6. 8+x=5>x=




—T—RARRX3 | (—a)+x=b

(=3)+x=5>x=?

L (-3)+tx=1x=

2. (=5)+x=7>x=

3. (9 +x=11>x=

59

4. (-8)+x=6>x=

5. (-1D)+x=7>x=

6. (8)+x=4>x=




—T—RAEEX4 | x+(—a)=Db

X+ (=3)=5x=?

1. x+(-3)=8x=

2. x+(=5)=9>x=

3.x+(=7)=15>x =

60

4. x+(-9)=8>x=

5. x+(-10)=7>x=

6. x+(—8)=5"x=




—I—RAEEXS | x—a=>»

x—3=5>x=?

61

1. x—3=8>x= 4. x —9=8>x=

5.x—10=7>x=
2.x—5=9x=

3.x—7=15>x = 6. x —8=5>x=




=b

RNFEEIXL6 | a—x

_jTB_

3—x=5>x=?

62

4. 8—x=7x

5.11—-x=7x

6.8—x=3"x

1. 3—x=10" x

2.5—x=7>x

3.9—x=15x



—t—RAEBHXT7 | (—a)—x=b>b

(=3)—x=5>x=?

63

1. (-3)—x=1>x= 4, (-8)—x=6>x=

5. (1) —x=7>x=
2. (-5)—x=5 x=

3. (-9)—x=11>x= 6. (—8)—x=4>x=




—T—R5B®XS | x—(—a)=b

x—(=3)=5>x=?

64

1. x—(-3)=8>x= 4. x —(—9)=8>x=

5. x—(-10)=7>x=
2.x—(-5)=9 x= 0 '

3.x—(=7)=15>x = 6. x—(—8)=2>x=




—T—RAEENI | ax=Db (xZIEEE)

2x =6 x =7

65
1. 3x =9 x = 4. 9x =81’ x =
2. 5x =20 x = 5. 6x =42 > x =
3. 7x =28 x =
6. 8x =48 x =




—Tt—RAER10 | ax=—-b (x BIEEEZ)

2x = —6> x =7
66
1. 3x=-12 > x = 4. 9x = =72 > x =
5. 6x = —42 > x =
2. 5x=-30>x=

3. 7x =-56x = 6. 8x =—-88>x =




—T—RAEBER1l | —ax=b (xZ2IEEE)

—2x =61 x =7?

67

1. 3x=3>x= 4., - 9x =36 x=

5. - 6x=96’ x =
2. - 5x=20>x=

3. - 7x=21>x= 6. 8x=72>x=
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—2x = -6 x =?

68

4. —9x =—-54 - x

5. —6x=-36x

6. - 8x=-40>x

—3x=-3x=

1.

2. - 5x=-30>x

3. - 7x=-28x
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—Xx=6x =7
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—X =—-6x =?

1.

2.

3.

—x=-3x =

—x=-1>x=

—x=-8'x=

4.

S.

6.

70

—x=-9x =

—x = —4 5 x =

—x=-11>x=




—r—RAEN 15

ax=b (x2ESE)

3x =5 x =?

1.

3x=1>x=
S5x=2>x=
.Ix=3'x=

71
4. 9x =8> x =
5. 6x=5x=
6. 8Bx =12 x =




—T—RFEBRX16 | ax=-b x2ESE)

3x =—-5>x =7
72
1. 3x=-2>x= 4. 9x = -7 > x =
5. 6x=-1>x=
2. 5x=-3>x =

3. 7x =—4> x = 6. 8x =—-6>x=
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—3x=5>x=?

73
1. 3x=1>x= 4., -9x =7 x=
5. - 6x=5>x=

2. -5x =3 x=

3. - 7x=4>x= 6. 8x=14> x =
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—3x =—-5>x =7

74

1. 3x=-2>x= 4, - 9x=-3 > x=

5. - 6x=-15>x=
2. -5x=-7>x=

3. - 7x=-13 > x = 6. 8x=-12>x=
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1
?x=6’x=?
75
1 1
Ile’xz 4.?x=8’x=
1
1 5 6x=5’x=
?x=2’x=
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a
1
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3
77
1 1o
1.4x—— X = 4.3x—— X =

1 o
2. 5x—— » X =

1 1
3.7x=—5’x= 6.7x=—15’x=
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1
——X=—-6>x =7
3
78
1 _ 1 g
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1o
1 - 5.—6x—— X =
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——REEN2S —x=—c

a

3

—x =—6>x=7?

4

81

2 g RN
1.3x—— » X = 4.6x—— r X =
3 5 7x=—-1li>x=
Z.Zx=—12’x=
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3
——x=—-6x=?
4
82
2 5
1 —?x=—4’x= 4 —Ex=—15’x=
4 _
3 5 —7x——16’x—
2. 4 x=-6>x=
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3 6—2x——7’x—
3 —?x=—9’x=
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9x=0'x=

4.

6x=0°>x=

5.
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3x=0>x=

1.

5x=0>x=

2.

7x=0>x=
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1. 3x=0>x= 4., —8x=0>x=

5. —12x=0>x =
2. —6x=0>x=

3. - 7x=0>x=
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1. x+-3=8>x= 4. x +9=8>x=

5.x+10=7>x=
2. x+5=9x=

3.x+7=1>x= 6. x -8=5>x=
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1. 3x+1=4>x= 4., 9x+2=20>x=

5. 6x+5=35>x=
2.5x+3=18x =

3. 7x+3=24>x = 6. 8x+4=20>x=
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1. 3x+1=-1>x= 4. 9x+2=-5>x=

5. 6x+5=—-6°x=

2.5x+3=-3x

3. 7x+3=-5x= 6. 8x+4=-2>x=
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—3x+2=8>x=?
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1. 3x+1=7>x= 4., -9x+2=11>x=

5. - 6x+5=17 » x =
2. - 5x+3=18x =

3. - 7x+3=24>x= 6. 8x+4=4>x=
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1. 3x+1=-7>x= 4., - 9x+2=-11>x=

5. -6x+5=—-6>x=
2. -5x+3=-8>x=

3. 7x+3=-2>x= 6. 8x+4=-2>x=
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1. 3x+1=5>x= 4. 9 +7=2>x=

5. 6x+5=20>x=
2.5x+3=10>x =

3. 7x+3=8>x= 6. 8x+4=4>x=
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1. 3x+1=-5>x= 4. 9x+2=-25>x=

5. 6x+5=-31>x=
2.5x+3=-12>x =

3. 7x+3=-18 x = 6. 8x+4=-20>x=
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1. -3x+1=5>x= 4. -9x+7=2>x=

5. - 6x+16=1>x=
2. - 5x+3=10>x =

3. - 7x+3=8'x= 6. 8x+9=3:x=
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1. -3x+1=-5>x= 4. - 9x+7=-2>x=

5. -6x+10=-8>x=
2. - 5x+3=-22>x=

3. - 7x+3=—4>x= 6. 8x+9=-7>x=
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1. 3x—1=8>x= 4. 9x —2=25>x=

5. 6x—5=31>x=
2.5x—3=12>x =

3. 7x —3=32x = 6. 8x—4=20>x=
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4. 9x —10=-8> x

5. 6x —13=-2>x

6. 8x—9=-3x

1. 3x—1=-8>x

2.5x—-3=-12>x

3. 7x —3=-1>x



—ax—b=c

R 44

p_ﬁ_

—3x—2=10> x =?

100

4. - 9x—2=25>x

5. - 6x—5=31>x

6. 8x—4=20°x

—3x—1=8>x=

1.

2. - 5x—3=12>x

3. - 7x—3=32x
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4., - 9x—-7=-2>x

5. - 6x—4=-3°x

6. 8x—7=-2x

—3x—1=-8>x=

1.

2. - 5x—3=-12>x

3. - 7x—3=—4>x
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4. 9x —2=10" x

4> x =

5. 6x—5

20 x =

6. 8x — 4

1.3 x—1=6"x

2.5x—3=6"x

3. 7x —3=8"x
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4, 9x —19=-1>x

5.6x—20=-2>x

6. 8x —27=-3>x

1. 3x—1=-19>x

2. 5x —3=-23>x

3. 7x —3=-24>x
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4. -9x—2=10"x

8'x=

5. —6x—7

6. 8x—4=2>x

—3x—1=3>x=

1.

2. -5x—1=6°x

3. - 7x—3=2x
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4, - 9x—21=-12 x

5. -6x—15=-3 > x

6. 8x—2=-2x

—3x—1=-10>x=

1.

2. - 5x—3=-23>x

3. - 7x—3=-24>x
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1. 3x+1=2x>x = 4. 9 +2=10x > x =

5. 6x+4=8x>x=
2.8x+7=xx=

3. 7x+6=4x > x = 6. 8x+12=11x>x =
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3. 7x+22=—4x > x =
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4. 9x+2=—x>x =

5. 6x+4=-2x>x=

6. 8x+3=—-4x>x=
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1. -3x+5=2x>x= 4., 9x+2=x>x=

5. - 6x+7=8x’'x=
2. 2x+9=x>x=

3. 3x+14=4x > x = 6. -5x+12=3x>x=
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1. -3x+5=-2x>x = 4., —x+2=-9x > x =

5. -6x+7=—-8x>x=
2. -2x+9=—x>x=

3. 4x+ 14 =-3x > x = 6. 2x+2=—-7x'x=
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1. 3x—1=2x>x = 4. 9x —2=10x > x =

5. 6x —4=8x>'x =
2.8x—-7=xx=

3. 7x —6=4x > x = 6. 8x—12=11x>x =
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4. 9x — 4 =—xx

5. 4x —-5=-3x>x

6. 5x —6=-3x°x

1. 3x—5=-2x>x

2.3x —8=—x"x

3. 2x — 18 = —4x > x
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1. -3x—-5=2x>x= 4., -7x—2=x>x=

5. - 6x—5=2xx=
2. 3x—8=x’x=

3. x—15=4x>x = 6. -5x—12=3x>x=
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1. -3x—-5=-2x>x = 4, 2x—1=—-7x>x=

5. - 6x—4=-9x°x=
2. -3x—8=—x>x=

3. x—15=—-4x > x = 6. 3x—8=-8x>x=
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1. 3x+1=2x+11>x = 4. 4dx+13=2x+3 > x =

5. 6x+24=8x+10> x =
2.5x+7=2x+10>x =

3. 7x+12=4x+ 6> x = 6. 5x+23=12x+9 > > x =
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1. 3x+1=2x—-11> x = 4. 5x+5=9x -3 x =

5. x+3=6x—2°>x=
2.5x+2=3x—-10> x =

3. 7x+6=4x—-9 > x = 6. 3x+4=7x—8>x=
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1. 3x—1=2x+11> x = 4. 2x — 13 =4x+3 > x =

5. 6x —2=9x+ 10> x =
2.5x—7=2x+5>x=

3. 7x —6=4x+3 > x = 6. x —3=5x+9>x=
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1. 3x—1=2x—-11> x = 4. 2x — 13 =4x -3 > x =

5. 6x —14=9x -2 > x =
2.5x—7=2x—-13 > x =

3.4x —6=7x—9 > x = 6. x —5=5x—1>x=




——RAEERX 62 ax+b=—-cx+d
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1. 3x+1=-2x+11>x = 4. x+5=-2x+1>x=

5. 6x+15=-2x4+3 > x =
2.5x+7=—x4+19 > x =

3.4x+1=-2x+7>x= 6.8x+17=—x+2°x=
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1. 3x+1=2x+11>x = 4. -4x+13=x+3 > x=

5. - 6x+24=8x+10° x =
2. x+7=2x+10> x =

3. 2x+6=3x+16 " x = 6. 8x+23=x+8'x=
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1. 3x+1=—-2x+11>x= 4. -6x+13=—x+3>x=

5. - 6x+11=-8x+7°>x=
2. -5x+7=-2x+10>x =

3. -7x+16=—-2x+1>x= 6. —2x+20=-5x+8>x=
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1. 3(x+1)=2(x+5)x= 4. 4(x+5)=2(x+3) > x =
2.5(x+3)=2(x+9)rx= 5.3x+10)=7(x+6) » x =

3. 7(x+5)=4(x+2) ' x =
6. 3(x+4)=8(x+9) > x =
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—5x—-2)=3(x—4) > x =?
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1. -3(x—2)=2(x—-7) > x= 4. 4(x—1)=2(x—3) ' x =

5. -7x—6)=3(x—1) > x=
2. -5(x—3)=2(x—10) > x =

3. 5(x—-1)=3(x—-2)x= 6. 2(x—4)=7(x—1) > x=
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1. - (x—2)=-2(—x+11) > x = 4. —(x —3)=-2(—4x+6) >

=
Il

5. -(x—6)=—-3(-5x+2) > x =
2. -(x—3)=-2(-3x+9) > x =

3. - (x—=5)=—4(-2x+1) > x= 6. - (x—2)=-3(—2x+3)>x=
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—(—x+2)=34x—-1) > x =7
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1. - (—x+3)=205x-11) > x = 4. —(—x+1)=3MAx—-3) > x =

5. (—x+7)=32x—-1)> x=
2. (—x+8)=203x—-9) > x =

3. (—x+5)=42x—-1) > x = 6. —(—x+9)=2M4x—-3) > x =
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